Deconstructing Word Questions
Consider:

Creating a slow reveal prompt by hiding and revealing numbers and information
Accessibility tools: changing numbers, visual representations, easier versions

Year 1:

Amir has |16 apples. Ron has none.
Amir gives Ron 9 apples.

Who has the most apples now?
Explain how you know.

00000000
00000000

Year 2:

Teddy has 20 pence in 2p coins.
He uses 7 of the coins to buy a drink.

How many 2p coins does he have left?

Year 3:

Whitney has £30 pocket money.

She buys some of these books and gets £6 change.

How many books does she buy?



Year 4:

Some doughnuts are shared between boxes.
There are 6 doughnuts in each box.
There is | doughnut left over.

Circle how many doughnuts there could be.
65 66 67 68

Explain your answer.

Year 5:

A jacket costs £52
Eight jackets and three skirts cost £653

How much does a skirt cost?

Year 6:
Ron makes a stack of his comic books.

Each comic book is 2.5 mm thick.

The total height of the stack is 11.5 cm.

How many comic books does he have?



